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COMMERCE AND ACCOUNTANCY
Faper II
Time : 3 Hours Maximum Marks @ 150

Note ~— Attempt five guestions in all. Question No. 1 is

compulsory. All questions carry equal marks.
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1. The following are the summarized Profit and Loss Aceount
of Sind Products Limited for the year ending 31st

December, 2008 and the Balance Sheet as on that date @
Profit and Loss Anmu?t
To Opening stock 98,500 By Sales 2,560,000

Purchases 545,250  Closing stock 1,49,000
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Incidental expenses 14,260
Gross profit 3,40,000
—_—
5,99,000
I
To Operating
@xpenses :
Selling and
distribution 30,000
Administration 1,650,000
Finance 15,000
Ta Non-operating
expenses :
Loss on sale of
assets 4,000
Net profit 150,000
4,489,000
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et
8,99 000
BT
By Gross profit 340,000
By Nan-operating
income :
Interest 3,000
Profit on zale
of shares 6,000
3,49.000




lssued capital :

2,000 equity

shares of

T 100 each 2,000,000
Reserve 90,000

Current Nabilities 130,000
Profit and Loss
Account S0, 000

—— e,

4,80.000

I Comm, & Acco.-11

Balance Sheet

Land and building  1,50,000

Plant and machinery 80,000

Stoek in trade

Sundry debtors

Cash and bank

balances

1,448,000

71,000

30,000

4,800,000

From the above statement, you are required to

calculate the following ratios and state the purpose

they serve .

(e}  Current ratio
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Operating ratio
Stock turnowver
Returns on total reserves

Turnover of fixed assets,

al

iy Yreoem Tofhes 1 31 feamaw, cooe 91 9o 25

aret wd % o dire env-wf = a5 fafy =

qeA-T4 frefefag &
TTH-FI T
yrfirs w=iw sogo0  fasg

545250  Sif WS

HARF =) 14,250

TFE Y

3,40,000

5,089,000

8,50,000

1,49,000

B8,58,000
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ﬁﬁamq = : ThE T 340,000
fa=m am fTEre 31111 3
Tamm 30,000 AT 2000
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T W 150,000
3,49,000 346,000
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2,000 F@ S WA T WEER 80,000

U T 100 W 200000  =EE wmhE 1,489,000
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Define inflation. What are its causes ? Explain the
reasong why the GOI is not able to eontral inflation

in India. 20

TR i Fifw o owmE o oewm § 7
v e e 4 gor w6 faee w2
T FEU H HEEEd

What iz central banking ? Discuss its changing scenario

with reference to Indis's central banking, a0
wat e w7 g F A @ ged #
e wiafie hew # sen wifn |

Define value of money, Explain the various determinants
of value of money. 30
R % WA W uitafe wifee | g d om 5 R
Fefel = wm
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Explain how the composition of Indian foreign trade he

changed during the last two decades, a0

fredt 31 =oEl & SnE e TRl e E Heee

fem wwR WERE @ T0 % 7 TEEEd
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Explain the various provisions of the Companiss
Act, 1956 regarding the meeting of sharcholders

of the companies. 15

How is residence of assessees determined for
income tax purpus;s ? Explain the incidence of
residence on tax liability. 145
Fufrdl & sfyuwe =t wifzd & Hew |
wrE afafEm, 1956 & fafa=s gEuE =

TR |
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st & wewE & fau Fraffm & Fom W
Frffem fem wEm R ST ¥ 7 we-amae W

Framg =1 Tt # EEeEd |

What do vou mean by technigues of auditing ?
Discuge the warious techniques adopted by our

auditor in course of his audit work, 15

What is the contribution of Henry Fayol to the

theory of management ? 15
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The following data are obtained from the records of a

factory

Sales {4,000 units @ ¥ 25 each) 1,00,000
Materials consumed A0L000

Labour charges 20,000

Variable overheads 10,000

Fixed overheads 18,000 (B8,000)
Net profit 12,000
Caleulate :

(13 Number of units hy selling which the company

will break-even,
{2y Sales needed to earn a profit of 25% on sales.

(%) Hxtra units, which should be sold to obtain the
present profit if it is proposad to reduce the selling

price by 20% and 25%.
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{4} Selling price to be fixed to bring down its
break-even point ta 300 units under present

conditions. 30

frefefen wie? wF A @ feld @ oW g e

fawg (4.000 THEAT TEE T 25

w5 H) 1,000,000
i fra & wd 40,0010
Rt 20,000
fedasie sufers 10,000
L e e 18,000 (88,000)
& = 12,000
AT HIFEE

(Tt sl =1 g feees rmw W Haee
T OEAE =T |
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